

$$u + \Delta u = \frac{6}{x^2 + 2x(\Delta x) + (\Delta x)^2}$$

$$\Delta u = \frac{6}{x^2 + 2x(\Delta x) + (\Delta x)^2} - \frac{6}{x^2}$$

$$\therefore \Delta u = \frac{-12x(\Delta x) - 6(\Delta x)^2}{x^2 + 2x^2(\Delta x) + x^2(\Delta x)^2}$$

$$\frac{\Delta u}{\Delta x} = \frac{-12x - 6(\Delta x)}{x^2}$$

$$\lim_{\Delta x \rightarrow 0} \left(\frac{\Delta u}{\Delta x} \right) = \lim_{\Delta x \rightarrow 0} \left[\frac{-12x - 6(\Delta x)}{x^2} \right]$$

$$\therefore \frac{du}{dx} = \frac{-12}{x^2}$$

$$\frac{dy}{dx} = \frac{dy}{du} \times \frac{du}{dx}$$

$$\frac{dy}{dx} = \cos u \times \frac{-12}{x^2}$$

$$\frac{dy}{dx} = \frac{-12 \cos u}{x^2}$$

Putting the value of u back

$$\frac{dy}{dx} = \frac{-12 \cos \left(\frac{6}{x^2} \right)}{x^2}$$

NAME: NKENCHO ALEXIS

2) DEPARTMENT: MECHANICAL

MATRIC NO: 19 ENK061036

COURSE: MAT 109

S/N: 149

$$1) y = \sin\left(\frac{6}{x^2}\right)$$

$$\text{Let } u = \left(\frac{6}{x^2} - c\right)$$

$$y = \sin u$$

$$y + \Delta y = \sin(u + \Delta u)$$

$$\Delta y = \sin(u + \Delta u) - y$$

$$\Delta y = \sin(u + \Delta u) - \sin u$$

$$\Delta y = 2 \cos\left(\frac{2u + \Delta u}{2}\right) \cdot \sin\left(\frac{\Delta u}{2}\right)$$

$$\frac{\Delta y}{\Delta u} = \frac{2 \cos\left(\frac{2u + \Delta u}{2}\right) \cdot \sin\left(\frac{\Delta u}{2}\right) \times \frac{1}{2}}{\Delta u / 2}$$

$$\frac{\Delta y}{\Delta u} = \cos\left(\frac{2u + \Delta u}{2}\right) \cdot \frac{\sin\left(\frac{\Delta u}{2}\right)}{\Delta u / 2}$$

$$\lim_{\Delta u \rightarrow 0} \left(\frac{\Delta y}{\Delta u}\right) = \lim_{\Delta u \rightarrow 0} \left[\cos\left(\frac{2u + \Delta u}{2}\right)\right] \cdot \lim_{\Delta u \rightarrow 0} \left[\frac{\sin\left(\frac{\Delta u}{2}\right)}{\Delta u / 2}\right]$$

$$\frac{dy}{du} = \cos u$$

$$\text{from equation (1); } u = \frac{6}{x^2}$$

$$u + \Delta u = \frac{6}{(x + \Delta x)^2}$$

$$2) \quad x = 4t^2 - t^3, \quad y = t^4 + 2t^2$$

$$\frac{dy}{dx} = 12t^2 - 2t, \quad dx = (8t - 2t^2)dt$$

Let A represent the area

$$A = \int_1^2 y dx$$

$$A = \int_1^2 (t^4 + 2t^2)(8t - 2t^2) dt$$

$$A = \int_1^2 (8t^5 - 2t^6 + 16t^3 - 4t^4) dt$$

$$\Rightarrow \left[\frac{8}{6} t^6 - \frac{2}{7} t^7 + \frac{16}{4} t^4 - t^5 \right]_1^2 + C$$

$$\left(\frac{2624}{6} - \frac{248}{7} + \frac{320}{1} - 32 \right) - \left(\frac{8}{6} - \frac{2}{7} + \frac{16}{4} - 1 \right)$$

$$= \frac{16096}{3} - \frac{248}{7} - \frac{6}{105}$$

$$A = 4966.36 \text{ sq units}$$

$$3) \quad x = 4t^2 - t^3, \quad y = t^4 + 2t^2$$

$$\frac{dy}{dx} = \frac{dy}{dt} \times \frac{dt}{dx}$$

$$\frac{dy}{dt} = 4t^3 - 4t$$

$$\frac{dx}{dt} = 8t - 2t^2, \quad \frac{dt}{dx} = \frac{1}{8t - 2t^2}$$

$$\frac{dy}{dx} = \frac{4t^3 - 4t}{8t - 2t^2} \times \frac{1}{8t - 2t^2}$$

$$\frac{dy}{dx} = \frac{4t^2 - 4}{8t - 2t^2} = \frac{4t(t-1)}{2t(4t-1)}$$

$$\frac{dy}{dx} = \frac{2(t-1)}{4t-1}$$